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1 05803¢ LIO|AOLE 46,000 ZHH| St 46
2 05807¢ LtO|AOLE 39,200 | =oiF(Hz] < 46
3 05808¢ LtO|AOLE 59,800 H| LT 46H
4 05810¢ LtO|AOLE 61,600 g Qf 46
5 05813¢ LtO|AOLE 31,150 | 2*F2I0|E 2| 46
6 05814¢ LtO|AOLE 45,000 =gt 46
7 05815¢ LtO|AOLE 59,800 EY 46
8 05817¢ LtO|AOLE 40,500 gtz Q| 46
9 05820¢ LtO|AOLE 56,800 AHZ Q| 46
10 05821 LtO|AOLE 37,000 x| 46
11 05&22¢ LIO|ADIE 48,000 | HIO|Z7| Q| 469
12 05824 LIO|ADOIE 46,000 S CAD) 46
13 05827¢ LtO|AOLE 46,160 HA3 2 46
14 05828¢ LtO|AOLE 44,990 x| 46
15 05829¢ LtO|AOLE 33,500 =229 9| 46
16 05831 LtO|AOLE 40,500 gtz Q| 46
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